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SECTION A 


Answer all the questions in this section.
1. 
(a) What is a tool bar?









(1mk)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

(b) List four tool bars available in a word processing window.



(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

2. 
State four areas where computers are used today.





(4mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

3. 
Mention four things that are likely to cause eye – strain in the computer room.

(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

4. 
Give two major advantages of USB interface cable over other cables in the computer.
(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

5. 
Name three responsibilities that are carried out by a web administrator.


(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

2.
6. 
(a) State two advantages of using hard disks as a medium of a storage. 


(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) Describe two precautions you would take to avoid damaging the hard disks.

(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

7. 
Give the use of the following features in desktop publishing




(2mks)



(i) Master pages.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________



(ii) Tracking.

_______________________________________________________________________________


_______________________________________________________________________________


______________________________________________________________________________

8. 
State four types of virus.








(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

9. 
Identify three factors you would consider when choosing an operating system for use in 

a computer. 










(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

10. 
Define the term normalisation as used in database design.




(1mk)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

3.
11. 
Give three reasons why a new disk must be formatted before using it.


(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

12. 
A computer user may interact with a computer either through graphical user interface 

(GUI) or through typed commands.

Give two advantages of using GUI based operating system over a command line interface
 (2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

13. 
One morning a bank opened its doors for business, only to find that a hacker gained access

 into the computer system and changed all the information about their customers.

(a) State two ways in which the bank can protect their computer system from hacking.
(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

(b) State two types of records about a customer that were most likely affected.

(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

14. 
Explain three ways in which a car industry would benefit the customers from the use 

of computers.










(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

15. 
(a) What is a primary key in a database?






(1mk)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

4.

(b) Give a reason why surname cannot be used as a primary key in students’ record file 

in a school database.








(1mk)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________





Section B (60 marks)


Answer questions 16 and any other three questions in this section in the spaces provided
16. 
(a) Explain three methods of testing a computer program for errors.



(3mks)

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) (i) What is a program translator?







(1mk)

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


     (ii) Give two examples of translators.






(2mks)

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


     (iii) Name one program control structure.






(1mk) 



_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

5.

(c) Study the Pseudo code below and design a flow chart for it.



(8mks)



Set total to zero.


Set grade count to one.


While grade counter is less than or equal to ten. 



Input the next grade.


Add the grade into total.


Add one to the grade counter.


Set the class average to the total divided by ten. 



Print the class average.
6.
17. 
(a) (i)What is an expert system. 







(1mk)

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


     (ii) State and describe three components of an expert system.



(6mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) (i) Outline three environmental effects of information and communication 

technology (ICT).








(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


     (ii) Distinguish between job displacement and job replacement in reference to 

Computerisation.








(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


    (iii) State three reasons why users may resist the introduction of information and 

communication technology (ICT) to their place of work.



(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

7.
18.
(a) (i) Briefly explain three main components of a satellite transmission system.

(3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


     (ii) State two advantages of satellite communication.




(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) (i) Using a well labelled diagram illustrate mesh topology.



(2mks)


     (ii) State three advantages and two disadvantages of mesh topology.


(5mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(c) List the functions of the following devices in a network.




(3mks)



(i) Transceiver.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________



(ii) Repeater.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

8.
(iii) Switch.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

19. 
(a) State two reasons for using binary in digital technology.




(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) Using Two’s compliment subtract 1012 from 10002.




(4mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(c) Convert the hexadecimal number FC1 to its binary equivalent.



(6mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________
_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________
_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(d) Explain each of the following computer terminologies as used in data representation.
(3mks)



(i) Bit.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

9.


(ii) Nibble.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________



(iii) Word.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

20. 
(a) Distinguish the following terms as used in a spreadsheet program.


(6mks)


(i) Labels and values.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(ii) Relative cell reference and absolute cell reference.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(iii) Distinguish electronic spreadsheet over manual spreadsheet.

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(b) The table below shows a part of spreadsheet to calculate annual sales and cost of goods sold. For 


example to obtain sales for 2004, the sales in 2003 are increased by 25% and goods sold in

 2005 are 40% of sales in 2004. Cells B2, B3 and B4 are used to calculate sales, cost of 

goods sold and gross margin.
	
	A
	B
	C
	D
	E

	1
	Part 1. variables
	
	
	
	

	2
	Opening sales
	1000
	
	
	

	3
	Sales growth rate
	25%
	
	
	

	4
	Costs of goods sold
	40%
	
	
	

	5
	
	
	
	
	

	6
	Part 2. model
	
	
	
	

	7
	Year
	2003
	2004
	2005
	2006

	8
	Sales cost of goods
	1000
	1250
	1563
	1953

	9
	Goods sold
	400
	500
	625
	

	10
	Gross margin
	600
	750
	938
	


10.

(i) What values are missing in cells E9 and E10?





(2mks)


(ii) Write suitable formulae for calculating values in cells E9 and E10.


(2mks)

_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(iii) Which cells would not change automatically when contents of cell B4 is changed

 to 60%.









 (3mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


(iv) State one cell that uses absolute cell reference and another that uses relative cell 

reference in the spreadsheet. 







(2mks)


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________


_______________________________________________________________________________

11.
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1. 
(a) A tool bar is a row of buttons or icons that represent commands.


(b) Formatting bar.

     Standard bar.

     Drawing bar.

     Mail merge tool bar.



Each ½ mark

2. 
(a) (i) Financial systems e.g. Accounting, stock control etc.

     (ii) Transport systems e.g. Air traffic control, shipping control etc.

     (iii) Entertainment system e.g. used in showing movies.

     (iv) Scientific research e.g. weather forecasting, medical research etc.

3. 
- Poor lighting of the room.

- Bright monitors.

- Flickering monitors.

- Very bright wall paints that reflect too much light.




Each ½ 

4.
 Advantages of USB.

- It is very light and convenient to carry.

- Provide faster transmission of high quality data.

- Its serial nature enables it to connect devices a longer distance away.

- The USB port can be used to connect a wide range of peripheral devices due to its common

 universal interface.

5. 
- Develop and test website.

- Maintains, updates and modifies information on the website to meet new demands by the users.

- Monitors the access and use of internet connection by enforcing security features.

- Down loads information needed by an organosation or institution from internet websites.

6. 
(a) – Provide permanent storage of data.

     - Have a large storage capacity.

     - Are cheap per unit of storage.

     - Are rewritable.

     - Are very fast in data access compared to other data storage devices.
This paper consists of 6 printed pages
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(b) – Do not drop the disk drive.

     - Do not expose it to strong heat.

     - Do not expose it to dust or smoke particles.

     - Do not unprocedurally switch off the computer.
7. 
Master pages.

- Are used for providing a general layout applied to all other pages of publication.


Tracking. 

· Used to change visual denseness or openess of characters in a line.
8. 
- Trojan horses.

- Worms.

- Time bombs.

- Logic bombs.
9. 
. Hardware configuration of the computer.

. User needs.

. Availability in the market.

. User friendliness or human computer interface.

. Portability.

. Cost.


. Reliability i.e. can it run without crashing.

10. 
Normalisation is the process of trying to eliminate storage of duplicate values in a database.

11. 
. To prepare it for storage purposes.

. To create tracks and sectors for the storage of data.

. To prepare a new root directory on the disk.

. To delete any existing information on the disk.

. To determine the effective storage capacity for the disk.

. To check for bad sectors on the new disk.
12. 
. User friendliness


. Easy to learn and use by those do not have much knowledge about them.


. One does not need to master any commands.


. It is faster to work with than a command line interface as if only relies on clicking the icons by use 


of a pointing device.
13. 
(a) . Changing passwords regularly.


     . Using complex passwords.


     . Establish user levels in their databases.


(b) . Deposits


     . Balances


     . Withdrawals

14. 
. Faster designing of car models


. Faster assembling of car parts


. Faster and accurate processing of transactions of buying and selling of cars


. High production of cars

2.
15. 
(a) A primary key is a field that identifies a record uniquely


(b) Many students may have a common surname 

16. 
(a) . Disk checking (dry run) – involves going through the program while still on paper before 



entering it in the program editor


     . Using debugging utilities – after entering the program in the program editor. You can run

 debugging utilities during translation to detect syntax errors


     . Using test data – the programmer carries out trial runs of the new program.


(b) (i) A program translator is a system software which changes source code to object code.


     (ii) Compiler


          . Interpreter


          . Assembler


     (iii) . Sequence


            . Selection



. Interaction/repeatation



(c)



Start








  
Total = 0






GC = 0

√1









Read Grade
√1












Total = Total + Grade1√1




√1
GC = GC + 1

          GC< 101   √1








        N




Logic√1

Class Average
   √1





= Total/10







Print class average      √1













          Stop


3.
17. 
(a) (i) An expert system is a software that stores the knowledge of human experts and is then used as

 consultant in a particular field.


     (ii) Knowledge base – is the expert system’s database of knowledge about a particular subject.


 . Inference engine – is the software that controls the search for knowledge in the knowledge base 



and produces conclusions


. User interface – is the display screen that enables the user interact with the system.


(b) (i) . Energy consumption


          .  Radiation/emission of harmful rays


           . Pollution – toxic substances/catridges/laptops


     (ii) In job replacement, the unskilled workers may be replaced with the skilled ones while in job 


displacement, some employees may be moved to new working areas as the computer may
 serve to perform tasks that may be performed by several people.


      (iii) . Fear of change


            . Fear of loosing their jobs


            . Fear of failure



. Loss of control

18. 
(a) (i) . Transmitter earth station – sets up an uplink to a satellite in order to transmit data.


          . A satellite – it is placed somewhere in an orbit that receives, amplifies and retransmits the

 signal to a receiving earth station.


          . Receiving earth station – receives the sent signal on the other side of the globe.


    (ii) . Spans large geographical area


          . Support remote areas


          . Medium is flexible without loosing network



(b) (i) 

DTE


DTE









Communication cables





DTE


DTE


      (ii) Advantages

· Network operational even if a node breaks down

· Network is reliable

· Point to point connections optimize output of data

· Easy to troubleshoot

· Faster data transmission

Disadvantages

· It is expensive on cable due to redundant links

· Administration of the network is difficult because of the peer to peer connections.

(c) (i) Transceiver – is used to transmit and receive analogue or digital signals in a LAN.
     (ii) Repeater – receives a signal from one segment of a network, cleans it to remove any 


distortion, boosts it and then sends it to another segment.

    (iii) Switch – it forwards a packet directly to the address node without broadcasting.

4.
19. 
(a) . It is easier to develop devices that understand binary language.


     . Devices designed using binary logic are simple, more reliable and consume less energy.


(b) Change the values to 8 binary digits 



000010000 – 00000101



1 c of 2nd value



   s




11111010

(1mk)



2 c of 2nd value



   s 




11111011

(1mk)



Add   00001000



      + 1111 1011



         1 00000011



Ignore over flow






= 00000011
(1mk)


(c) Changing FC1 to decimal




15 x 162 + 12 x 161 + 1 x 160 (1mk)



3840 + 192 + 1 = 4033 (1mk)



2
4033
Rem



2
2016
1



2
1008
0



2
504
0



2
252
0



2
126
0



2
63
0



2
31
1



2
15
1



2
7
1



2
3
1



2
1
1




0
1



Correct division by 2

(2mks)



1111110000012

(2mks)

20. 
(a) (i) Labels are any text or alphanumeric characters entered in a cell while values are numbers that 



can be manipulated mathematically.


     (ii) Relative cell reference is a method of referring to a cell such that a formula copied across a
 group of cell changes relative to the position of each cell into which it is copied to while 
absolute cell reference is a method of referring to a cell such that a constant value can be
copied across a group of cells

5.

(iii) An electronic spreadsheet offers a larger virtual sheet for data entry and manipulation while the
 largest paper ledger you can get does not exceed 30 columns and 51 rows. An electronic has
 at least 255 columns and 255 rows.


(b) (i) E9 = 781


          E10 = 1172


      (ii) E9 = $B$4 * E8


            E10 = E8 – E9


(c) C8, D8 and E8


(d) Absolute B4 and B3


      Relative C9 to E9

6.
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QUESTION ONE

(a) 
Create a database in the floppy disk named ‘KATHIANI  COLLEGE’


(2mks)

(b) 
Create a table with the following fields using appropriate data types: Adm No. First Name, 

Last Name, Course, Date of Admission and Completed. Save it as STUDENTS DETAILS (8mks)

(c) 
Set Adm No as a Primary key and the default value for the Date of Admission to reflect today’s 

data











(2mks)

(d)
Create a Columnar form that would be used to enter data into STUDENTS DETALS and save it as


STUDENTS DATA ENTRY.








(3mks)

(e) 
Use the above form to enter the following data into the database



(6mks)

	Adm No.
	First name
	Last name
	Course
	DOA
	Completed

	3224
	John
	Flora
	IMIS
	12/01/2011
	Yes

	4455
	Mary
	Mutua
	Accounts
	24/12/2009
	Yes

	6677
	Benard
	Maingi
	French
	15/5/2011
	No

	7760
	David
	Naja
	IMIS
	0/04/2011
	No

	2312
	Evy
	Danson
	French
	23/8/2009
	Yes

	6547
	Joy
	Kelly
	IMIS
	4/3/2011
	No

	6579
	Mwangi
	Sam
	IMIS
	18/4/2011
	No 


(f) 
Create a table named ‘FEE PAYMENT’ in the same database to contain Adm No. Fee paid and

 Receipt No.










 (5mks)

(g) 
Link STUDENTS DETAILS table to FEE PAYMENT table.



(2mks)
(h) 
Enter the following details directly into the FEE PAYMENT table.



(2mks)
	Adm No.
	Fee paid
	Receipt number

	3224
	12000
	100

	4455
	30000
	121

	6677
	30000
	152

	7760
	25000
	134

	2312
	30000
	145

	6547
	23000
	124

	6579
	30000
	150


(i) 
Create a query to display the following details: Adm no. First name, Last name, Fee paid. 


Save as


FEE PAID










(5mks)

(j)
Display a list showing the last name and the Fee balance for all students who owe the college 

over 10000 given that the total fees for each course is 30000. Save as SEND HOME
(5mks)

(k) 
Certificates are to be given only to those who have completed their course and have paid the full


amount. Create query, having the Adm No, First name, Last name and course for all students to be


awarded the certificates. Save as GRADUANTS.





(5mks)

(l)
Prepare reports for STUDENTS DETAILS, FEE PAYMENT, FEE PAID, SEND HOME, 


GRADUANTS.









(5mks)

(m) 
Print out the reports in (l) above







(5mks)

2.
QUESTION TWO

(a)  Type the following text using a word processor, font size 12’, line space 1 ½ and save it as ACMI.


Congress Endorses Computer Science education as Driver of Innovation, Economic Growth


AC (10/21/09,)


ACM and several computing community partners commend the U.S.I – House of Representatives 

passage of a resolution to improve the visibility of computer science as a transforming industry that
 propels technology innovation and improves economic productivity. The House resolution 
designates the week of December 7 as ‘National Computer Science Education Week’ and calls on 
educators and policymakers to improve computer science learning at all education levels and to
 encourage increased participation in computer science.

ACM is working with Microsoft. Google. Intel. the Computer Science Teachers Association 
(CSTA), the National Center for Women & Information Technology (NC WIT), and the Computing
 Research Association to improve awareness that computer science education is a national priority. 
“National Computer Science Education week will help us draw attention to the need for an educational system that values computer science as a discipline and provides students with critical thinking skills and career opportunities.” Says ACM Education Policy Committee chairBobby Schnabel, dean of the
 school of informatics at Indiana University.


CSTA executive director Chris Stephenson notes the vital role that computing plays in people’s daily
 lives, and stresses the urgency of building a strong computing workforce. “We need to expose K-12 
students to computer science concepts to help them gain critical 21st century skills and knowledge,
and we’re grateful for Congress’ recognition of this need as a national priority.” Stephenson says. 
NCWICEO and co-founder Lucy Sanders says the annual commemoration of National Computer 
Science Education Week can strengthen efforts to inform students, teachers, parents, and the public
about how computer science enables innovation in all science, technology, engineering, and
mathematics fields and creates economic opportunities.

(a) (i) Format the heading as follows: Uppercase, size 16; double underlined

(3mks)

     (ii) Apply two columns in the second paragraph.





(3mks)

     (iii) Indent the third paragraph to 0.5” to the right and 0.5 to the left


(2mks)

     (iv) Save the document as ACM2.







(2mks)

(b) (i) Copy ACMI into a new document.






(2mks)

     (ii) Apply drop cap in the first paragraph






(2mks)

     (iii) Apply page break in the document so that each paragraph is in its own page
(2mks)

     (iv) Number the pages in the document






(2mks)

     (v) Enter the following in page two of the document




(6mks)

	PACKAGE
	DURATION
	FEES
	                                            Inserting tabel

                                           Correctly – 2mks

                                           Data entry – 2mks

                                           Correct data – 1mk

                                         Merging cells – 1mk

	WORD
	
	1500

3000

3500
	

	EXCEL
	20 HOURS
	
	

	ACCESS
	25 HOURS
	
	

	DTP
	15 HOURS 
	
	



(iv) Save as ACM3









(3mks)

(c) Print ACM1, ACM2 and ACM3







(3mks)
3.
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a)
Database – created – 1mk

 - corrected name ‘KATHIANI COLLEGE’






1mk

b) 
Table name STUDENT DETAILS 2mks (1mk if available but name different)


1mk for each field name + appropriate data type max 6mks

c) 
Adm no set as primary key








1mk


Date of Admission default set as = Nowl






1mk

d)
Form created 

1mk


Form columnar
1mk


Saved as STUDENTS DATA ENTRY – 1mk

e)
Correct + complete entry – 1mk for each field (max x 6 mks)

f)
FEE payment table created  - 2mks for correct name





         - 1mk for incorrect name




Correct field name + data type – 1mk (max 3mks)

g)
Table linked – 2mks

h)
Data entered – complete and correct







2mks


         - incomplete 1mk

i)
Query name FEE PAID








1mk


J.K.L.M


Each field 1mk (4mks max)


THE PAYMENT REPORT

	ADM NO
	FEE PAID RECEIPT NO

	3224
	$12,000.00 100

	4455
	$30,000.00 121

	6677
	$30,000.00 152

	7760
	$25,000.00 134

	2312
	$30,000.00 145

	6547
	$23,000.00 124

	6579
	$30,000.00 150
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FEE PAID

	ADM NO FIRST NAME
	LAST NAME
	FEE PAID 

	3224 JOHN
	FLORA
	$12,000.00 

	4455 MARY
	MUTUA 
	$30,000.00 

	6677 BENARD
	MAINGI
	$30,000.00 

	7760 DAVID
	NAJA
	$25,000.00 

	2312 EVY
	DANSON
	$30,000.00 

	6547 JOY
	KELLY
	$23,000.00 

	6579 MWANGI
	SAM
	$30,000.00 




GRADUANTS REPORT

	ADM NO FIRST NAME
	LAST NAME
	COURSE TAKEN

	4455 MARY
	MUTUA 
	ACCOUNTS

	2312 EVY
	DANSON
	FRENCH




SEND HOME BUDGET

	LAST NAME
	
	BALANCE

	3224 FLORA
	
	$18,000.00 


QUESTION 2

ACM1.


Congress Endorses Computer Science Education as Driver of Innovation, Economic Growth

AC (10/21/09,)


ACM and several computing community partners commend the U.S.I – House of Representatives 


passage of a resolution to improve the visibility of computer science as a transforming industry that

 propels technology innovation and improves economic productivity. The House resolution 

designates the week of December 7 as ‘National Computer Science Education Week’ and calls on 

educators and policymakers to improve computer science learning at all education levels and to encourage increased participation in computer science.


ACM is working with Microsoft. Google. Intel. the Computer Science Teachers Association 

(CSTA), the National Center for Women & Information Technology (NC WIT), and the Computing

 Research Association to improve awareness that computer science education is a national priority. 

“National Computer Science Education week will help us draw attention to the need for an educational system that values computer science as a discipline and provides students with critical thinking skills and career opportunities.” Says ACM Education Policy Committee chair Bobby Schnabel, dean of the school of informatics at Indiana University.


2.
CSTA executive director Chris Stephenson notes the vital role that computing plays in people’s daily

 lives, and stresses the urgency of building a strong computing workforce. “We need to expose K-12 

students to computer science concepts to help them gain critical 21st century skills and knowledge,

and we’re grateful for Congress’ recognition of this need as a national priority.” Stephenson says. 

NCWICEO and co-founder Lucy Sanders says the annual commemoration of national Computer 

Science Education Week can strengthen efforts to inform students, teachers, parents, and the public

about how computer science enables innovation in all science, technology, engineering, and

mathematics fields and creates economic opportunities.

ACM2

CONGRESS ENDORSES COMPUTEER SCIENCE EDUCATION

AS DRIVER OF INNOVATION, ECONOMIC GROWTH

ACM(10/21/09)


ACM and several computing community partners commend the U.S – House of Representatives 


passage of a resolution to improve the visibility of computer science as a transforming industry that

 propels technology innovation and improves economic productivity. The House resolution 

designates the week of December 7 as ‘National Computer Science Education Week’ and calls on 

educators and policymakers to improve computer science learning at all education levels and to encourage increased participation in computer science.


ACM is working with Microsoft. Google. Intel. the Computer Science Teachers Association (CSTA), the National Center for Women & Information Technology (NC WIT), and the Computing. Research Association to improve awareness that computer science education is a national priority. “National Computer Science 
Education week will help us draw attention to the need for an educational system that values computer science as a discipline and provides students with critical thinking skills and career opportunities.” Says ACM Education Policy Committee chair Bobby Schnabel, dean of the school of informatics at Indiana University.


    CSTA executive director Chris Stephenson notes the vital role that computing plays in people’s 
    daily lives, and stresses the urgency of building a strong computing workforce. “We need to 
    expose K-12 students to computer science concepts to help them gain critical 21st century skills 
    and knowledge, and we’re grateful for Congress’ recognition of this need as a national priority.” 
                Stephenson says. NCWITCEO and co-founder Lucy Sanders says the annual commemoration of   

                National Computer Science Education Week can strengthen efforts to inform students, teachers,
                parents, and the public about how computer science enables innovation in all science, technology, 
               engineering, and mathematics fields and creates economic opportunities.
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ACM3


Congress Endorses Computer Science education as Driver of innovation, Economic Growth


ACM (10/21/09)


ACM and several computing community partners commend the U.S – House of Representatives 


passage of a resolution to improve the visibility of computer science as a transforming industry that

 propels technology innovation and improves economic productivity. The house resolution 

designates the week of December 7 as ‘National Computer Science Education Week’ and calls on 

educators and policymakers to improve computer science learning at all education levels and to encourage increased participation in computer science.


ACM is working with Microsoft. Google. Intel. the Computer Science Teachers Association 

(CSTA), the National Center for Women & Information Technology (NC WIT), and the Computing

 Research Association to improve awareness that computer science education is a national priority. 

“National Computer Science Education week will help us draw attention to the need for an educational system that values computer science as a discipline and provides students with critical thinking skills and career opportunities.” Says ACM Education Policy Committee chair Bobby Schnabel, dean of the school of informatics at Indiana University.
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    CSTA executive director Chris Stephenson notes the vital role that computing plays in people’s 

    daily lives, and stresses the urgency of building a strong computing workforce. “We need to 

    expose K-12 students to computer science concepts to help them gain critical 21st century skills 

    and knowledge, and we’re grateful for Congress’ recognition of this need as a national priority.” 

                Stephenson says. NCWITCEO and co-founder Lucy Sanders says the annual commemoration of   

                National Computer Science Education Week can strengthen efforts to inform students, teachers,

                parents, and the public about how computer science enables innovation in all science, technology, 

               engineering, and mathematics fields and creates economic opportunities.
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